AP Microeconomics            Mr. Sadow          Chapter 7 Extra Credit #7 of 9 
Show your work and put the answer on the line or circle the correct letter.
Name: _______________________

Include specifics, like %, $, and amounts (80% or $10 million).


Period: ____
***This is due on or before the day of the test review

Price Elasticity of Supply (PES)
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1. Qs= from 100 to 100 and P= from $1 to $2

PES= ________    elasticity= ___perfectly inelastic_           

2. Qs= from 100 to 140 and P= from $4 to $2

PES= ________    elasticity= _______________________ 

3. Qs= from 25 to 35 and P= from $4 to $4.80

PES= ________    elasticity= _______________________ 

4. Qs= from 10 to 8 and PES= -1


P= ________  
    elasticity= _______________________

5. P= from $2 to $3 and PES= -.8


Qs= ______  
    elasticity= _______________________
1. Assume a 10 percent increase in price increased the

    market quantity supplied by 20 percent. Which of the

    following is true?
  (A) Supply is price inelastic.
  (B) The value of the price elasticity of supply is 0.5.
  (C) The value of the price elasticity of supply is 2
  (D) Demand is price elastic.
  (E) This price-quantity combination violates the law of

        supply.
2. Assume that the price elasticity of supply for good Y is

    0.5. If the price of good Y decreases by 30 percent, the

    quantity supplied of good Y will

  (A) decrease by 60 percent

  (B) decrease by 15 percent

  (C) decrease by 30 percent

  (D) increase by 0.5 percent

  (E) increase by 0.15 percent

3. If the value of the price elasticity of supply is 3, which of

    the following is true?

  (A) A 10 percent decrease in price will decrease the

        quantity supplied by 30 percent.
  (B) A percentage increase in price will lead to a relatively

        smaller percentage increase in quantity supplied.

  (C) The supply curve is downward sloping with respect to

        the price of output.

  (D) Supply is inelastic.
4. If the price elasticity of supply for pickles is 2 and the

    price of pickles increases by 10 percent, then the quantity

    supplied of pickles will increase by
  (A) 0.2%
  (B) 20%
  (C) 8%

  (D) 12%

  (E) 5%
5. The quantity of peanuts supplied increased from 40 tons

    per week to 60 tons per week when the price of peanuts

    increased from $4 per ton to $5 per ton. The price

    elasticity of supply for peanuts over this price range is

  (A) unit elastic
  (B) inelastic
  (C) elastic
  (D) perfectly elastic
  (E) perfectly inelastic
